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BEAR A TIRYT  EFIR FEOUT * EEEE.
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IN—TEt

JIE 4L K £ 1 2 3 4 GROSS HDGP NET
1 |[#8H# & 42 46 88 16. 8 71.2
2 [FBK FHH 54 46 100 28.8 71.2
S |IAR = 43 44 87 15.6 71.4
4 (Hfp BX 53 52 105 33.6 711.4
5 (B FER 44 42 86 14. 4 71.6
6 |EHF KRE 52 46 98 26. 4 71.6
7 |&dH R 46 40 86 14. 4 71.6
8 (IS & 43 42 85 13.2 71.8
9 |IR BN 38 41 79 1.2 71.8
10 | B JsR 43 45 88 15.6 12. 4
1M |&K E& 40 47 87 14. 4 72. 6
12 |BR[R 1E{# 43 44 87 14. 4 12. 6
13 |HlL #F 45 41 86 13.2 72.8
14 |KH XEE 47 44 91 18.0 73.0
15 HERKR N 43 47 90 16. 8 73.2
16 =t —5h 51 51 102 28.8 13.2
17 |$8k FE 54 48 102 28.8 73.2
18 |MEKy IEBH 50 52 102 28.8 13.2
19 |BEH F— 46 56 102 28.8 73.2
20 | B 42 41 83 9.6 13. 4
21 |EO  {&5 42 47 89 15.6 73. 4
22 |KFx IES 54 52 106 32.4 713.6
23 |KtE& f#— 48 40 88 14. 4 73.6
24 |REO #@E 45 43 88 14. 4 713.6
25 [BRA FEIE 45 48 93 19.2 73.8
26 |1 1BA 44 43 87 13.2 73.8
27 |[EH EB 52 46 98 24.0 74.0
28 |#8EH 7 51 41 92 18.0 74.0
29 (A% Rk 39 41 80 6.0 74.0
0 [BE XE 45 52 97 22.8 74.2
31 % =& 45 46 91 16. 8 74.2
32 | KRk i 47 44 91 16. 8 74.2
33 |[mE FHIE 39 40 79 4.8 74.2
34 |FIl Bh— 45 40 85 10. 8 74.2
35 [FEE fiE 43 42 85 10. 8 74.2
36 [EF &= 61 53 114 39.6 74. 4
37 |&HFT == 46 44 90 15.6 74. 4
38 |lUX BEF 49 53 102 27.6 74. 4
39 M BB 46 56 102 27.6 74. 4
40 [Fk E— 47 48 95 20. 4 74. 6
41 |B 51T 48 47 95 20.4 74.6
42 [FER WmH 51 44 95 20.4 74. 6
43 e A 46 49 95 20.4 74.6
44 v fE— UM 40 37 11 2.4 74. 6
45 |B% @l 46 42 88 13.2 74. 8
46 |IUA $EEH 47 47 94 19.2 74. 8
47 |EmR & 48 40 88 13.2 74. 8
48 |EkIE H=*E 54 52 106 31.2 74. 8
49 |1E[E BEEA 39 43 82 1.2 74. 8
50 |#&%k &R 55 51 106 31.2 74. 8




51 | ki #E—ER 46 48 94 19.2 74.8
52 |IEA m— 48 o1 99 24.0 75.0
53 |8 AR 53 57 110 34.8 15.2
54 |&¥ EFF 96 o4 110 34.8 15.2
5 |EH %z 49 48 97 21.6 75.4
56 | B =& 49 60 109 33.6 15.4
57 |%H EEB 51 52 103 21.6 75.4
58 &R FHR— 48 48 96 20. 4 15.6
59 |FEA 18 53 49 102 26.4 75.6
60 |FHE & o4 48 102 26. 4 15.6
61 |EFl =F 53 49 102 26.4 75.6
62 [EH HRX 46 44 90 14.4 15.6
63 |=H  5A 45 50 95 19.2 75.8
64 |FEX B 47 48 95 19.2 75.8
65 |EEA BE 54 53 107 31.2 75.8
66 [/ 46 49 95 19.2 75.8
67 |#E)II RER 51 44 95 19.2 75.8
68 (x4 [EE 44 90 94 18.0 76.0
69 |2 EA 48 46 94 18.0 76.0
10 |H2 FE8 93 93 106 30.0 16.0
R &2 55 57 112 36.0 76.0
12 |ER EBE 47 47 94 18.0 76.0
13 |iEi& BEA 42 45 817 10.8 6.2
74 @) HEF 48 o1 99 22.8 6.2
75 1T 3N 46 52 98 21.6 76. 4
16 |HEFT BiEX 93 o1 104 2].6 76. 4
17 |&%B = 44 54 98 21.6 76. 4
18 /Mg = 49 49 98 21.6 76. 4
79 (& FF 55 49 104 21.6 76. 4
80 |i#MH FEFEF 96 99 115 38.4 16.6
81 (A H— 43 42 85 8.4 76.6
82 |&8E 1= 90 47 97 20. 4 76.6
83 |MMA & 55 54 109 32.4 76.6
84 |#E EF 95 o4 109 32.4 76.6
85 | HA 51 46 97 20.4 76.6
86 |#iH i 42 43 85 8.4 76.6
87 |EF K 49 42 91 14.4 76.6
88 ALl &[5 49 47 96 19.2 76.8
89 (lLfE = 47 49 96 19.2 76.8
90 |E% R 92 90 102 25.2 16.8
91 |#ME KRB 45 50 95 18.0 71.0
92 |F HF 69 80 149 12.0 71.0
93 |BEH FIEA 59 65 124 46. 8 11.2
9 |ERN TR 50 50 100 22.8 11.2
95 [#*F EEF 54 46 100 22.8 11.2
96 |EMAE =M 95 57 112 34.8 11.2
97 |HO =R 54 52 106 28.8 11.2
98 (&R = 57 48 105 21.6 11.4
9 |F@E FHF 49 50 99 21.6 11.4
100 {&f8 & 90 95 105 2].6 11.4
101 B HE 65 52 117 39.6 11.4
102 |f2A8 E&E 92 92 104 26.4 71.6
103 |54 = 57 59 116 38.4 11.6
104 |iafk N5 62 99 121 43.2 71.8
105 |BEE &= o/ o/ 114 36.0 18.0
106 |FR3F f@% 53 49 102 24.0 78.0
107 |&ith FERKF 98 96 114 36.0 18.0
108 |48 kR 95 47 102 24.0 78.0
109 |KE =#&F 98 90 108 30.0 18.0




110 |iBK  =HiF 99 95 114 36.0 18.0
1| #H# EF o4 48 102 24.0 18.0
[AVARES:: I o " 67 138 60. 0 78.0
13 KB EX 45 45 90 12.0 18.0
114 2B HiE 44 45 89 10.8 18.2
115 [FmA Lo 63 62 125 46. 8 18.2
116 |ZEH ®Z 43 45 88 9.6 18.4
"7 |FEE &EH 63 95 118 39.6 18.4
18 |@JIl &K 66 57 123 44 4 78.6
19 |ixAXx E’x 42 45 817 8.4 18.6
120 Wi —1= 54 57 111 32.4 18.6
121 |5EE  #— 93 46 99 20. 4 18.6
122 |Hi& #Z 58 47 105 26.4 18.6
123 |i£&% BE— 44 95 99 20. 4 18.6
124 | EH EH 53 51 104 25.2 78.8
125 |HIL &R o/ 45 102 22.8 19.2
126 ([HA —E 51 45 96 16.8 19.2
127 (B FBF 98 96 114 34.8 19.2
128 | X8 & 51 51 102 22.8 79.2
129 | EA B 55 93 108 28.8 19.2
130 |=3 B 42 54 96 16.8 19.2
131 | F E®HF 65 95 120 40.8 79.2
132 |k HEE 49 52 101 21.6 79.4
133 | Kk # o1 90 101 21.6 79.4
134 |BkE 452 50 50 100 20.4 79.6
135 |[/hMd ELF 63 67 130 50. 4 79.6
136 [HER #F% 62 62 124 44.4 79.6
137 |ige = o4 o1 105 25.2 79.8
138 [RE Eif 53 52 105 25.2 79.8
139 |EH B2z 96 95 111 31.2 79.8
140 3GH FEE 51 52 103 22.8 80. 2
141 /v BE o1 92 103 22.8 80. 2
142 |#fE #BF 49 60 109 28.8 80. 2
143 |WUFT #— 66 60 126 45.6 80.4
144 |#FFH# #F 58 56 114 33.6 80. 4
145 [/pL 5= 90 98 108 2].6 80.4
146 |24+ FIBA 46 43 89 8.4 80. 6
147 | K#% #§F 10 67 137 96.4 80.6
148 | B =F 57 56 113 32.4 80. 6
149 A $E— 90 95 105 24.0 81.0
150 [#= &F 10 64 134 52.8 81.2
151 |RER A% 66 62 128 46. 8 81.2
152 |FK &R 58 46 104 22.8 81.2
153 |[BXx —5 95 o4 109 21.6 81.4
154 |S1E S 57 56 113 31.2 81.8
155 |BEKX & 57 96 113 31.2 81.8
156 B2 A 46 54 100 18.0 82.0
157 |RE EF o4 98 112 30.0 82.0
168 4k #:R 95 51 106 24.0 82.0
199 |EE # o4 63 117 34.8 82.2
160 )i £RA1 95 54 109 26. 4 82.6
161 Rk fB= 92 96 108 25.2 82.8
162 [1BH BF 52 48 100 16.8 83.2
163 |#H# —1 46 48 94 10.8 83.2
164 (HA H&E 48 49 97 13.2 83.8
165 [&mh  —fe 65 62 127 40. 8 86. 2
166 [HF & 95 91 146 58.8 81.2
167 | KA i5A 18 18 156 63. 6 92.4







